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The 15" Hong Kong Mathematics Challenge
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1. € 37 2407 HBZ/NMEZEER?
From 37 to 407, how many integers are there?
A. 368
B. 369
C. 370
D. 371
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2. LUN—IBI A EZE R RIS ?
Which of the following is not a property of a
rhombus?

A. #[E18%% (adjacent sides are equal in length)

B. PUiE#8% (four sides are equal in length)

C. [EF—4=h2¥17 (only one set of opposite sides

parallel)

D. BEmAEENEN1T (two sets of opposite sides parallel)
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o 3. 1R E208cmBV4EFEEFH - BEKAEHERBA/NRIIE
En 5 EATRBERRSD ? =
There is a 208cm rope and cut it to make 4 identical
squares. What is the length of a side of a square?

15cm
12cm
14cm

13cm /7&5

c o ® »



INBPAR -EHRRZEHRA

o 4. s KN EEE S/ WU EEHEEZZS ) ?

-~ What is the difference between the largest four- =
digit even number and the smallest four-digit odd
number?
A. 8999
B. 8887
C. 8998

D. 8997/
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1.D
2. C
3.D
4. D
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